Finding Solutons Yo _the Neat Equakion
[

M The bﬂ,k quakion is ‘H\,ea 'Fl)“,owiy\s PDE’
U -
\f?ﬁ' x [3 5;{ + P(“I{'D where % s Some Pos?hve wV\S'{‘M'\'\]

R

We will otren also Tmpose the *Fv“ow?ﬁ Condiiteons |

"]

Tor all £30:  ®(0,)=0
ey i)

And Borall x2 u(x0) =0 (Twiial Value)

i

Think of L as Hw \ev:j%\ ol some wire and £(x) as al,escﬁ‘bi‘n:’
e ntiial %Mfew\hre qlovrj the wire.

How wf“ we solve His € We will use Hee same s‘l‘mﬁjg that e aused

for so[\ﬁnﬂ ODEs.
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Case 3: ETSeV\VqllAe A< 0.

F%“ - 3\%
Av«xi\mﬂ eq/m’(‘fonf Frz—/\ =0
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Bat  af e e = O fthen
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ohere {ee Cn are real numbers.
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